O 2™2y = ax? o] ot a o] gho] 71 2F2 21 Zotet,

A
T o

>
> EE. ©

~&B

y=ax* o] T moA g >0 °o|H o= BEE5I, a <0 ©]H
= Z=s}

a o Auigho] S5 Fo| Fot. Wt a 9 Fho] 7HE 22
AL Sz S2FSHHA Zo| 7MY F& I Zo|t







y & x o] Aol wleflekit x = 3 4w, y = 27 olek. x 9] gro] 2914
A 20 B2V T,y o 3ol F7e Fstoler,
>

> Heh: 36

y = ax® oA
2T=ax3% a=3
L y=322 F(2) =12, f(4) =48

wehA y of ] S7HES 48 — 12 = 36 ot




[*]

R

2ZH? (A" 270)

@ oz E5slt.

@ %9 FHAL x=2

(]

It

® y =3 3 (0,5) oA Ttk

@A 2,3,4 AEBL Mgk,

128t y = —2x% - 8x— 5 9] I mo of
H9

T4

@) Bae15otA y = 242 +3 9 2=} H15] Tojo] Ak,

y=-2(x2+4x+4-4)-5=-2(x+2)>+3




= -3x2 9] T 2E x FO| YFOR 4 WF, y £
FFO 2 p iHE BPol sl y = —3x% + 12x+ 3 9] 2L} At
ol i, a, b ] gk= F+stoizt.

y=-32+12x+3 9 QTS y = a(x-p)2 +q¢ 9 B
VERH y = —3(x = 2)2 4+ 15 0| B2 y = —3x2 &] T I E
Zog 2, y&oR 15 W BPo|5at Aolch wakA a =2,
b =15 o|t}.




ORGSR y = 22 o THLE x 5| FFO
WOz 3 uF PPol e 1 n

-2 TF, y 59

Aol y=ax*+bx+c 4 ™,

y=2(x+2)2+3=2x2+8x+11
La+b+c=24+8+11=21




=
o
et
=X
Hr
B
o

o

|

I

=
o o
T Jmﬂ
R 5
=0
T
ol o
N =r
- o
s
R
* 3
o X
S
I A
= I
5 %
0T
H oF

@ y=2x*+3

®y=24%2-3

@)y =2+

@ y=-2(x+3)?2

=-2(x-3)2

® y

2(x + 3)2 o}

y:







y=a(x-2)2 9y dH 4a=-2
1

a=——

2
1
Ly = —i(x— 2)2




x Z3F 5 A (-3,0), (1,0) 4 TED, F (2,10) & ALhe
R

@ y=2(x-3)(x-1) @ y=-2(x+3)(x-1)

@)y =20x+3)(x-1) @ y=-2x-3)(x-1)

x 3] Aol (-3,0), (1,0) °|B&
y=a(x+3)(x—1) °l (2,10) & tHYstH
10 =a(2+3)(2-1)

La=2

SLy=2(x+3)(x—-1)




